JL_

Comparing Weights (Metric) Name:
Use<, > or =to comparetheweghts. ANnswers
/ 5grams < 3kilograms 2,000grams = 2kilograms \

Kilo means 1,000. So akilogram is the same
thing as 1,000 grams.
In the example above 3 kilograms is more
than 5 grams. Thisis because 3 kilogramsis
& 3,000 grams.

In the exampl e above the two amounts are the

same weight. Thisis because 2 kilograms is

equal to 2,000 grams.

/

1) 6,386 grams 2 kilograms

3 9,766 grams 10 kilograms

5 9,743 grams 2 kilograms

7) 977 grams 1 kilogram

9 2,230 grams 2 kilograms

11) 6,430 grams 10 kilograms

13) 7,347 grams 3 kilograms

15) 2,183 grams 10 kilograms

17) 7,903 grams 8 kilograms

19) 9,439 grams 1 kilogram

2) 2,874 grams 2 kilograms

4)

8)

10)

12)

14)

16)

18)

20)

5,958 grams 9 kilograms

8,154 grams 9 kilograms

10,900 grams 10 kilograms

6,386 grams 7 kilograms

7,000 grams 7 kilograms

6,908 grams 7 kilograms

1,909 grams 1 kilogram

9,105 grams 9 kilograms

4,044 grams 10 kilograms

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.
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JL_

Comparing Weights (Metric) Name. Answer Key
Use <, > or = to compar e the weights. Answers
/ 5grams < 3kilograms 2,000grams = 2kilograms \
Kilo means 1,000. So akilogram is the same 1. >
thing as 1,000 grams. In the exampl e above the two amounts are the
In the example above 3 kilograms is more same weight. Thisis because 2 kilograms is 5 >
than 5 grams. Thisis because 3 kilogramsis equal to 2,000 grams. '
& 3,000 grams. / <
3.
1) 6,386 grams > 2kilograms 2) 2874grams > 2kilograms g
- - 4,
5, >
3 9,766 grams < 10kilograms 4 5958grams < 9kilograms
6. <
5 9,743 grams > 2kilograms 6) 8154 grams < 9kilograms 7 <
8. >
7) 977grams < 1kilogram 8 10,900grams > 10kilograms | >
10. <
9 2230grams > 2kilograms 100 6,386 grams < 7 kilograms §
- - 11.
_ _ 12. -
11) 6,430grams < 10kilograms 12 7,000grams = 7 kilograms
13, >
13) 7,347grams > 3kilograms 14) 6,908 grams < 7 kilograms 14. =
15. <
15 2,183grams < 10kilograms 16) 1909 grams > 1kilogram . >
17. <
17) 7903grams < 8kilograms 18) 9105grams > 9kilograms .
- - 18.
_ _ 19, >
19) 9439grams > 1kilogram 20) 4,044 grams < 10 kilograms
<

20.
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C:h Comparing Weights (Metric) Name:

Use<, > or =to comparetheweghts.

/ 5grams < 3kilograms

Kilo means 1,000. So akilogram is the same
thing as 1,000 grams.
In the example above 3 kilograms is more
than 5 grams. Thisis because 3 kilogramsis
& 3,000 grams.

In the exampl e above the two amounts are the
same weight. Thisis because 2 kilograms is

2,000grams = 2kilograms

equal to 2,000 grams.

~N

/

1) 9,969 grams 10 kilograms

3 2,957 grams 7 kilograms

5) 7,000 grams 7 kilograms

7) 5,216 grams 6 kilograms

9 8,692 grams 9 kilograms

11) 1,459 grams 2 kilograms

13) 5,258 grams 5 kilograms

15) 8,000 grams 8 kilograms

17) 2,340 grams 3 kilograms

19) 7,564 grams 7 kilograms

2)

4)

6)

8)

10)

12)

14)

16)

18)

20)

3,249 grams 4 kilograms

6,655 grams 6 kilograms

1,768 grams 1 kilogram

6,594 grams 2 kilograms

5,703 grams 5 kilograms

6,518 grams 6 kilograms

2,358 grams 2 kilograms

4,582 grams 4 kilograms

1,991 grams 8 kilograms

9,459 grams 3 kilograms

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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C:h Comparing Weights (Metric) Name:

Answer Key

Use<, > or =to comparetheweghts.

/ 5grams < 3kilograms

Kilo means 1,000. So akilogram is the same
thing as 1,000 grams.
In the example above 3 kilograms is more
than 5 grams. Thisis because 3 kilogramsis
& 3,000 grams.

In the exampl e above the two amounts are the
same weight. Thisis because 2 kilograms is

2,000grams = 2kilograms

equal to 2,000 grams.

~N

/

1) 9,969 grams < 10kilograms
3) 2,957 grams < 7kilograms
5) 7,000grams = 7kilograms
) 5216grams < 6kilograms
9 8692grams < 9kilograms
11) 1,459 grams < 2kilograms
13) 5258 grams > 5kilograms
15 8,000grams = 8kilograms

17) 2340grams < 3kilograms

19) 7564 grams > 7 kilograms

2)

4)

6)

8)

10)

12)

14)

16)

18)

20)

3,249 grams < 4 kilograms

6,655 grams > 6 kilograms

1,768 grams > 1kilogram

6,594 grams > 2 kilograms

5703grams > 5kilograms

6,518 grams > 6 kilograms

2,358 grams > 2 kilograms

4582 grams > 4 kilograms

1,991 grams < 8kilograms

9,459 grams > 3kilograms

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers

<

<
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JL_

Comparing Weights (Metric) Name:
Use<, > or =to comparetheweghts. ANnswers
/ 5grams < 3kilograms 2,000grams = 2kilograms \

Kilo means 1,000. So akilogram is the same

thing as 1,000 grams.

In the example above 3 kilograms is more
than 5 grams. Thisis because 3 kilogramsis

\_

3,000 grams.

In the exampl e above the two amounts are the
same weight. Thisis because 2 kilograms is

equal to 2,000 grams.

/

1)

3)

5)

7)

9)

11)

13)

15)

17)

19)

7,388 grams 8 kilograms

9,937 grams 2 kilograms

3,976 grams 3 kilograms

6,474 grams 3 kilograms

2,451 grams 6 kilograms

9,233 grams 10 kilograms

2,854 grams 2 kilograms

2,000 grams 2 kilograms

680 grams 1 kilogram

2,258 grams 2 kilograms

2)

4)

6)

8)

10)

12)

14)

16)

18)

20)

1,403 grams 1 kilogram

9,507 grams 8 kilograms

5,000 grams 5 kilograms

4,845 grams 5 kilograms

8,267 grams 9 kilograms

1,032 grams 1 kilogram

7,600 grams 1 kilogram

5,663 grams 5 kilograms

8,566 grams 9 kilograms

2,284 grams 2 kilograms

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.
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C:h Comparing Weights (Metric) Name:

Answer Key

Use<, > or =to comparetheweghts.

/ 5grams < 3kilograms

Kilo means 1,000. So akilogram is the same
thing as 1,000 grams.
In the example above 3 kilograms is more
than 5 grams. Thisis because 3 kilogramsis
& 3,000 grams.

In the exampl e above the two amounts are the
same weight. Thisis because 2 kilograms is

2,000grams = 2kilograms

equal to 2,000 grams.

~N

/

) 7,388grams < 8kilograms
3 9,937grams > 2kilograms
5) 3976grams > 3kilograms
) 6474grams > 3kilograms
9 2451grams < 6kilograms
11) 9,233grams < 10kilograms
13) 2,854grams > 2kilograms
15 2,000grams = 2kilograms

17) 680grams < 1kilogram

19) 2,258 grams > 2 kilograms

2)

4)

6)

8)

10)

12)

14)

16)

18)

20)

1,403 grams > 1kilogram

9,507 grams > 8kilograms

5000grams = 5kilograms

4,845 grams < 5kilograms

8,267 grams < 9kilograms

1,032 grams > 1kilogram

7,600 grams > 1kilogram

5663grams > 5kilograms

8,566 grams < 9kilograms

2,284 grams > 2 kilograms

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers

<

>
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JL_

Comparing Weights (Metric) Name:
Use<, > or =to comparetheweghts. ANnswers
/ 5grams < 3kilograms 2,000grams = 2kilograms \

Kilo means 1,000. So akilogram is the same

thing as 1,000 grams.

In the example above 3 kilograms is more
than 5 grams. Thisis because 3 kilogramsis

\_

3,000 grams.

In the exampl e above the two amounts are the
same weight. Thisis because 2 kilograms is

/

equal to 2,000 grams.

1)

3)

5)

7)

9)

11)

13)

15)

17)

19)

2,000 grams 2 kilograms

7,781 grams 7 kilograms

7,431 grams 7 kilograms

8,369 grams 8 kilograms

1,169 grams 2 kilograms

3,583 grams 4 kilograms

10,835 grams 10 kilograms

4,453 grams 5 kilograms

5,807 grams 8 kilograms

7,309 grams 4 kilograms

2)

4)

6)

8)

10)

12)

14)

16)

18)

20)

9,922 grams 9 kilograms

7,334 grams 7 kilograms

6,993 grams 9 kilograms

3,936 grams 9 kilograms

5,000 grams 5 kilograms

5,831 grams 5 kilograms

261 grams 7 kilograms

6,737 grams 10 kilograms

6,689 grams 7 kilograms

6,372 grams 7 kilograms

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.
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JL_

Comparing Weights (Metric) Name. Answer Key

Use<, > or =to comparetheweghts.

/ 5grams < 3kilograms

Kilo means 1,000. So akilogram is the same
thing as 1,000 grams.
In the example above 3 kilograms is more
than 5 grams. Thisis because 3 kilogramsis
& 3,000 grams.

In the exampl e above the two amounts are the

2000grams = 2kilograms =\

same weight. Thisis because 2 kilograms is

equal to 2,000 grams.

/

1) 2,000grams = 2kilograms
3 7,781grams > 7kilograms
5) 7431grams > 7kilograms
) 8369grams > 8kilograms
9 1,169grams < 2kilograms
11) 3583grams < 4kilograms
13) 10,835grams > 10kilograms
15) 4,453 grams < 5kilograms

17) 5807 grams < 8kilograms

19) 7,309 grams > 4 kilograms

2)

4)

6)

8)

10)

12)

14)

16)

18)

20)

9,922 grams > 9 kilograms

7,334 grams > 7 kilograms

6,993 grams < 9kilograms

3,936 grams < 9kilograms

5000grams = 5kilograms

5831lgrams > 5kilograms

261 grams < 7 kilograms

6,737 grams < 10 kilograms

6,689 grams < 7 kilograms

6,372grams < 7 kilograms

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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C:h Comparing Weights (Metric) Name:

Use<, > or =to comparetheweghts.

/ 5grams < 3kilograms

Kilo means 1,000. So akilogram is the same
thing as 1,000 grams.
In the example above 3 kilograms is more
than 5 grams. Thisis because 3 kilogramsis
& 3,000 grams.

In the exampl e above the two amounts are the
same weight. Thisis because 2 kilograms is

2000grams = 2kilograms =\

equal to 2,000 grams.

/

1) 8,628 grams 9 kilograms

3 5,113 grams 5 kilograms

5 6,950 grams 7 kilograms

7) 3,640 grams 1 kilogram

9 2,150 grams 3 kilograms

11) 4,863 grams 2 kilograms

13) 2,746 grams 3 kilograms

15) 4,005 grams 4 kilograms

17) 4,598 grams 4 kilograms

19) 9,124 grams 8 kilograms

2)

4)

6)

8)

10)

12)

14)

16)

18)

20)

9,870 grams 2 kilograms

9,072 grams 10 kilograms

4,838 grams 4 kilograms

9,823 grams 10 kilograms

3,000 grams 3 kilograms

4,256 grams 4 kilograms

2,074 grams 2 kilograms

14 grams 8 kilograms

1,000 grams 1 kilogram

3,450 grams 2 kilograms

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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JL_

Comparing Weights (Metric) Name. Answer Key
Use <, > or = to compar e the weights. Answers
/ 5grams < 3kilograms 2,000grams = 2kilograms \
Kilo means 1,000. So akilogram is the same 1. <
thing as 1,000 grams. In the exampl e above the two amounts are the
In the example above 3 kilograms is more same weight. Thisis because 2 kilograms is 5 >
than 5 grams. Thisis because 3 kilogramsis equal to 2,000 grams. '
& 3,000 grams. / S
3.
1) 8628grams < 9kilograms 2) 9,870grams > 2kilograms g
- - 4,
5, <
3 5113 grams > 5kilograms 4 9,072grams < 10 kilograms
6. >
5 6,950grams < 7 kilograms 6) 4.838grams > 4kilograms 7 -
8. <
7) 3640grams > 1kilogram 8 9,823 grams < 10 kilograms o <
10. —
9 2150grams < 3kilograms 10 3,000grams = 3kilograms .
- - 11.
_ _ 12 >
11) 4863grams > 2kilograms 12 4256 grams > 4 kilograms
13, <
13) 2,746 grams < 3kilograms 14 2074grams > 2kilograms 14. -
15. >
15 4.005grams > 4kilograms 16) 14grams < 8kilograms . <
17. >
17) 4598 grams > 4kilograms 18) 1,000grams = 1kilogram ~
- - 18. -
_ _ 19, >
19) 9124 grams > 8kilograms 20) 3450grams > 2 kilograms
>

20.
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C:h Comparing Weights (Metric) Name:

Use<, > or =to comparetheweghts.

/ 5grams < 3kilograms

Kilo means 1,000. So akilogram is the same
thing as 1,000 grams.
In the example above 3 kilograms is more
than 5 grams. Thisis because 3 kilogramsis
& 3,000 grams.

2000grams = 2kilograms =\

In the exampl e above the two amounts are the
same weight. Thisis because 2 kilograms is

equal to 2,000 grams.

1) 7,716 grams 7 kilograms

3 138 grams 9 kilograms

5 969 grams 10 kilograms

7) 5576 grams 10 kilograms

9 7,590 grams 2 kilograms

11) 4,000 grams 4 kilograms

13) 7,167 grams 7 kilograms

15) 2,204 grams 3 kilograms

17) 5,720 grams 5 kilograms

19) 9,691 grams 10 kilograms

2)

10)

12)

14)

16)

18)

20)

240 grams 5 kilograms

6,505 grams 6 kilograms

887 grams 4 kilograms

4,496 grams 5 kilograms

5,436 grams 5 kilograms

7,547 grams 8 kilograms

5,048 grams 5 kilograms

3,000 grams 3 kilograms

9,607 grams 10 kilograms

7,620 grams 2 kilograms

/

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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JL_

Comparing Weights (Metric) Name. Answer Key
Use <, > or = to compar e the weights. Answers
/ 5grams < 3kilograms 2,000grams = 2kilograms \
Kilo means 1,000. So akilogram is the same 1. >
thing as 1,000 grams. In the exampl e above the two amounts are the
In the example above 3 kilograms is more same weight. Thisis because 2 kilograms is 5 <
than 5 grams. Thisis because 3 kilogramsis equal to 2,000 grams. '
& 3,000 grams. / <
3.
1) 7,716 grams > 7 kilograms 2) 240grams < 5kilograms .
- - 4,
5, <
3 138grams < 9kilograms 4) 6,505grams > 6 kilograms
6. <
5 969 grams < 10 kilograms 6) 887 grams < 4kilograms 7 <
8. <
7) 5576grams < 10kilograms 8 4,496 grams < 5kilograms o >
10. >
9 7590grams > 2kilograms 100 5436grams > 5kilograms
- - 11. =
_ _ 12 <
11) 4,000grams = 4kilograms 12 7547 grams < 8kilograms
13, >
13) 7,167grams > T7kilograms 14 5048 grams > 5kilograms 14. -
15. <
15 2204grams < 3kilograms 16 3,000 grams = 3kilograms . =
17. >
17) 5720grams > 5kilograms 18 9,607 grams < 10 kilograms §
- - 18.
_ _ 19, <
19) 9691 grams < 10kilograms 20 7,620grams > 2 kilograms
>

20.
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C:h Comparing Weights (Metric) Name:

Use<, > or =to comparetheweghts.

/ 5grams < 3kilograms

Kilo means 1,000. So akilogram is the same
thing as 1,000 grams.
In the example above 3 kilograms is more
than 5 grams. Thisis because 3 kilogramsis
& 3,000 grams.

In the exampl e above the two amounts are the
same weight. Thisis because 2 kilograms is

2000grams = 2kilograms =\

equal to 2,000 grams.

/

1) 9,788 grams 9 kilograms

3) 4,883 grams 4 kilograms

5 2,746 grams 3 kilograms

7) 721 grams 1 kilogram

9 1,938 grams 2 kilograms

11) 2,305 grams 6 kilograms

13) 4,466 grams 7 kilograms

15) 3,167 grams 3 kilograms

17) 6,403 grams 2 kilograms

19) 5,518 grams 5 kilograms

2)

4)

6)

8)

10)

12)

14)

16)

18)

20)

8,759 grams 9 kilograms

2,000 grams 2 kilograms

3,715 grams 10 kilograms

765 grams 9 kilograms

1,179 grams 1 kilogram

6,000 grams 6 kilograms

9,963 grams 10 kilograms

1,974 grams 7 kilograms

5,938 grams 6 kilograms

9,425 grams 10 kilograms

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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C:h Comparing Weights (Metric) Name:

Answer Key

Use<, > or =to comparetheweghts.

/ 5grams < 3kilograms

Kilo means 1,000. So akilogram is the same
thing as 1,000 grams.

than 5 grams. Thisis because 3 kilogramsis
& 3,000 grams.

2,000grams = 2kilograms

In the exampl e above the two amounts are the
In the example above 3 kilograms is more same weight. Thisis because 2 kilograms is

equal to 2,000 grams.

~N

/

1) 9,788grams > 9kilograms 2)

3 4,883grams > 4kilograms 4

5 2,746 grams < 3kilograms 6)

7) 721grams < 1kilogram 8)

9 1,938grams < 2kilograms  10)

11) 2,305grams < 6kilograms 12

13) 4466grams < 7kilograms 14

15 3,167grams > 3kilograms  16)

17) 6,403grams > 2kilograms  18)

19) 5518grams > 5kilograms ~ 20)

8,759 grams < 9kilograms
2,000grams = 2kilograms
3,715grams < 10kilograms
765grams < 9kilograms
1,179 grams > 1kilogram
6,000 grams = 6 kilograms
9,963 grams < 10kilograms
1,974grams < 7 kilograms

5938grams < 6 kilograms

9,425 grams < 10 kilograms

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers

>

<
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JL_

Comparing Weights (Metric) Name:

Use<, > or =to comparetheweghts.

-

5grams < 3kilograms

Kilo means 1,000. So akilogram is the same

thing as 1,000 grams.

In the example above 3 kilograms is more
than 5 grams. Thisis because 3 kilogramsis

2000grams = 2kilograms =\

In the exampl e above the two amounts are the
same weight. Thisis because 2 kilograms is

equal to 2,000 grams.

& 3,000 grams.
1) 492grams  5kilograms %) 4123grams 6 kilograms
3) 425grams  4kilograms 4) 8256grams  9kilograms
5) 8732grams  8kilograms 6) 1912grams  4kilograms
7) 7,648 grams 7 kilograms 8) 3,369 grams 10 kilograms
9 7074grams  8kilograms  10) 9,727grams  10kilograms
11) 8,099 grams 7 kilograms 12) 2,846 grams 3 kilograms
13) 7,979 grams  1kilogram 14) 9,335 grams 3 kilograms
15) 1,566 grams 2 kilograms 16) 10,859 grams  10kilograms
17) 9,945 grams  9kilograms 18) 8,132 grams  8kilograms
19) 20)

10,000 grams 10 kilograms

9,424 grams 9 kilograms

/

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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JL_

Comparing Weights (Metric) Name. Answer Key

Use<, > or =to comparetheweghts.

-

\_

5grams < 3kilograms

Kilo means 1,000. So akilogram is the same

thing as 1,000 grams.

In the example above 3 kilograms is more
than 5 grams. Thisis because 3 kilogramsis

3,000 grams.

2000grams = 2kilograms =\

In the exampl e above the two amounts are the
same weight. Thisis because 2 kilograms is

equal to 2,000 grams.

/

1)

3)

5)

7)

9)

11)

13)

15)

17)

19)

492 grams < 5kilograms

425 grams < 4 kilograms

8,732grams > 8Kkilograms

7,648 grams > 7 kilograms

7,074 grams < 8Kkilograms

8,099 grams > 7 kilograms

7,979 grams > 1kilogram

1,566 grams < 2kilograms

9,945grams > 9 kilograms

10,000 grams = 10 kilograms

2)

6)

8)

10)

12)

14)

16)

18)

20)

4,123 grams < 6 kilograms

8,256 grams < 9kilograms

1912 grams < 4kilograms

3,369 grams < 10 kilograms

9,727 grams < 10 kilograms

2,846 grams < 3kilograms

9,335 grams > 3 kilograms

10,859 grams > 10 kilograms

8,132grams > 8kilograms

9,424 grams > 9 kilograms

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers

<

<
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C:h Comparing Weights (Metric) Name:

Use<, > or =to comparetheweghts.

/ 5grams < 3kilograms

Kilo means 1,000. So akilogram is the same
thing as 1,000 grams.
In the example above 3 kilograms is more
than 5 grams. Thisis because 3 kilogramsis
& 3,000 grams.

In the exampl e above the two amounts are the
same weight. Thisis because 2 kilograms is

2,000grams = 2kilograms

equal to 2,000 grams.

~N

/

1) 7,134 grams 6 kilograms

3 2,598 grams 3 kilograms

5 1,858 grams 1 kilogram

7) 3,012 grams 3 kilograms

9 9,044 grams 4 kilograms

11) 9,762 grams 10 kilograms

13) 7,675 grams 7 kilograms

15) 3,321 grams 8 kilograms

17) 1,381 grams 9 kilograms

19) 6,331 grams 3 kilograms

2)

10)

12)

14)

16)

18)

20)

1,000 grams 1 kilogram

4,170 grams 4 kilograms

7,595 grams 8 kilograms

9,462 grams 7 kilograms

4,284 grams 5 kilograms

3,413 grams 3 kilograms

1,000 grams 1 kilogram

773 grams 3 kilograms

7,400 grams 7 kilograms

1,217 grams 7 kilograms

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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C:h Comparing Weights (Metric) Name:

Answer Key

Use<, > or =to comparetheweghts.

/ 5grams < 3kilograms

Kilo means 1,000. So akilogram is the same
thing as 1,000 grams.
In the example above 3 kilograms is more
than 5 grams. Thisis because 3 kilogramsis
& 3,000 grams.

In the exampl e above the two amounts are the
same weight. Thisis because 2 kilograms is

2,000grams = 2kilograms

equal to 2,000 grams.

~N

/

1) 7134 grams > 6kilograms

3 2598 grams < 3kilograms

5 1,858grams > 1 kilogram

7) 3,012grams > 3kilograms

9 9,044 grams > 4kilograms

11) 9,762 grams < 10 kilograms

13) 7675grams > 7 kilograms

15) 3,321 grams < 8kilograms

17) 1,381 grams < 9kilograms

19) 6,331 grams > 3kilograms

2)

10)

12)

14)

16)

18)

20)

1,000 grams = 1 kilogram
4,170 grams > 4kilograms
7,995grams < 8kilograms
9,462 grams > 7 kilograms
4,284 grams < 5kilograms
3413 grams > 3kilograms
1,000 grams = 1 kilogram
773grams < 3kilograms

7,400 grams > 7 kilograms

1,217 grams < 7 kilograms

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers

>
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C:h Comparing Weights (Metric) Name:

Use<, > or =to comparetheweghts.

/ 5grams < 3kilograms

Kilo means 1,000. So akilogram is the same
thing as 1,000 grams.
In the example above 3 kilograms is more
than 5 grams. Thisis because 3 kilogramsis
& 3,000 grams.

In the exampl e above the two amounts are the
same weight. Thisis because 2 kilograms is

2,000grams = 2kilograms

equal to 2,000 grams.

~N

/

1) 8,200 grams 9 kilograms

3) 7,748 grams 7 kilograms

5 9,051 grams 10 kilograms

7) 4,944 grams 4 kilograms

9 3,000 grams 3 kilograms

11) 8,754 grams 9 kilograms

13) 5,691 grams 7 kilograms

15) 2,965 grams 8 kilograms

17) 522 grams 1 kilogram

19) 4,849 grams 8 kilograms

2)

4)

8)

10)

12)

14)

16)

18)

20)

3,609 grams 4 kilograms

6,263 grams 8 kilograms

2,589 grams 10 kilograms

7,602 grams 8 kilograms

3,245 grams 7 kilograms

4,187 grams 4 kilograms

7,885 grams 6 kilograms

213 grams 7 kilograms

10,881 grams 10 kilograms

2,000 grams 2 kilograms

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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JL_

Comparing Weights (Metric) Name. Answer Key
Use <, > or = to compar e the weights. Answers
/ 5grams < 3kilograms 2,000grams = 2kilograms \
Kilo means 1,000. So akilogram is the same 1. <
thing as 1,000 grams. In the exampl e above the two amounts are the
In the example above 3 kilograms is more same weight. Thisis because 2 kilograms is 5 <
than 5 grams. Thisis because 3 kilogramsis equal to 2,000 grams. '
& 3,000 grams. / S
3.
1) 8200grams < 9kilograms 2) 3,609grams < 4kilograms g
- - 4,
5, <
3 7,748grams > T7kilograms 4 6,263grams < 8kilograms
6. <
5 9,051grams < 10kilograms © 2589 grams < 10 kilograms 7 -
8. <
7) 4944 grams > 4kilograms 8 7,602grams < 8kilograms N =
10. <
9 3,000grams = 3kilograms 10 3245grams < 7 kilograms §
- - 11.
_ _ 12 >
11) 8,754 grams < O9kilograms 12 4,187 grams > 4 kilograms
13, <
13) 5691 grams < 7kilograms 14) 7,885grams > 6 kilograms 14. -
15. <
15 2965grams < 8kilograms 16) 213grams < 7 kilograms . <
17. <
17) 522grams < 1kilogram 18) 10,881 grams > 10 kilograms .
- - 18.
_ _ 19, <
19) 4849grams < 8kilograms 20) 2,000grams = 2 kilograms

20.
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